M6 x 35 DIN7991
+ 123120506
+ M6 DIN985

890

/

M8 x 20 M8 x 20

813RM
DIN7991 813LB
M6 x 25 DIN7991 ., -
+ 123120506 = W M6 x 12
) - @ DIN7991
s O:

744D

M8 x 30 DIN7991 872

+ 123220608

M6 x 45 DIN7380
+ 817 + 123122006
+ M6 DIN985

M8 x 30 DIN6921
+ 807

M8 x 50 DIN6921
+ 807

M8 x 40 DIN7984
between 744D and 744R
+ 123222608

818185

Chart Nr. III

M6 x 25 S
DIN7984 —

Chart Nr. 11 >

HONDA CB 1000 R
2011-2017 BRAKE HOSE 20°/ 220mm / 20°

Part Nr. 744

Ruacing Parts




HONDA CB 1000 R
2011-2017
Chart Nr. II

3x copper washer HEL

M10 x 1,25 double screw HEL

HONDA CB 1000 R
2011-2017
Chart Nr. III

| 2xM6DIN9021 | |M6 x 25 DIN912

ABS BLOCK

M8 x 50 DIN6921
+ 123221208

M6 x 16 DIN7380
+ 816R

S0302 810R

Racing Parts



